manipiying by 1 to 0 (0)	Multip ¹	lying	by 1	to 6	(G)
--------------------------	---------------------	-------	------	------	-----

Name: Date:

Score:

Calculate each product.

$$5 \times 3 =$$

$$1 \times 5 =$$

$$3 \times 1 =$$

$$3 \times 3 =$$

$$6 \times 1 = \Box$$

$$2 \times 3 =$$

$$2 \times 2 =$$

$$6 \times 6 =$$

$$3 \times 6 =$$

$$4 \times 1 =$$

$$4 \times 4 = \Box$$

$$1 \times 2 =$$

$$5 \times 6 =$$

$$2 \times 4 =$$

$$3 \times 4 =$$

$$6 \times 2 =$$

$$4 \times 3 =$$

$$2 \times 6 =$$

$$1 \times 4 =$$

$$2 \times 5 =$$

$$6 \times 3 =$$

$$1 \times 1 =$$

$$1 \times 3 =$$

$$4 \times 5 =$$

$$5 \times 2 =$$

$$3 \times 2 =$$

$$3 \times 5 =$$

$$2 \times 1 =$$

$$4 \times 2 =$$

$$6 \times 5 =$$

$$6 \times 4 =$$

$$4 \times 6 =$$

$$5 \times 1 =$$

$$5 \times 4 =$$

$$1 \times 6 =$$

$$5 \times 5 =$$

$$4 \times 3 =$$

$$3 \times 5 =$$

$$2 \times 5 =$$

$$3 \times 4 =$$

$$6 \times 1 =$$

$$4 \times 4 =$$

$$1 \times 3 =$$

$$2 \times 4 =$$

$$6 \times 4 =$$

$$3 \times 2 =$$

$$1 \times 6 =$$

$$1 \times 4 =$$

$$1 \times 2 =$$

$$3 \times 3 =$$